-

(i (i (] @mﬁm\

Sl
M5x14 (x4) M6x14 (x4) M6X30 (x4) M8x30 (x4) S HI L)
A B c D
(o [oo| 0) 0 )
M8x50 (x4) 5mm (x8) 15mm (x8)
E F (x4) G H
Pommm
M8x65 (x6) 50mm (x6)
I J

. N
/ -\
/ S \
| .-
' /
| ~— ‘
<. L,

@m
@ (a3) For Uneven TV

Choose the suitable length screws
(a) For Flat-backed TV
Bracket Short Screw Washer
The back of the TV
PN &)
(b) For Irregular -backed (Rounded)TV L S
Long Screw Washer . "
BT \\\\\\\\\\\\\\\\\\\\ )
Bracket Spece! The back of the TV ‘
%@ e ¥y (o] [o) (2]
) U
\. J \ O s Yy,

N\ ©

[~

\ L




)  —

CAUTION: DO NOT EXCEED MAXIMUM

LISTED WEIGHT CAPACITY. SERIOUS
INJURY OR PROPERTY DAMAGE MAY

OCCUR!

&2 GLIXCO

(10[0),C10]0]

)

\

Q\QOO @ 0000000 ( -

J
J
J

J

—

ECO400XL100

N




